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PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1Y etreu(meuaTeL HmIET @ ey H@E, eeubleur elamalnen ermssTy 500 Gerphaeflen
allenL_wel&&He b,

1. Explain the grounds of divorce available to a Muslim wife under the
Dissolution of Muslim Marriages Act, 1939.
1939-1b e WawHw SHmwanrs sameoliLg sl L gl weamipbley CLUm e (PSS
LOEDETEN & (GETET STTETRISEET 65l6TEEs5.

2. Explain the sources of Hindu law and point out the differences between
Mitakshara and Dayabhaga system.

@Bl FL_sdler cponisamer edlleTsdl, WsTagy WwHMmID SWLTE LpeDs@hddlenL Guiwime
Caumurhsemers @GHILLAHS.

3. Examine the status of children of void and voidable marriages under the
Hindu Marriage Act, 1955.

1955-b <D Qpg Hmwans FlLsdar Ep Csders wHmD  SelTHE
mwarriisafle 9nbs GLpbangsefler & L_blanaudener <prmiis.

PART B — (2 X 7= 14 marks)

Answer TWO of the following in about 300 words each.
Yetreu(meuaTeuHmIET @ ey H(E eelbleum elamelnEn gnssry 300 CQerpaeflen
allen_wel&Ha .

4. Explain the procedure of Christian Marriage provided under Christian
Marriage Act, 1872.

Fmsgleu Smoent FL1b, 1872-60 sapliil(Heer Hl(HLoamt (penmenit 6lemd:@s.



5. Define “Acknowledgement of Paternity”. State the conditions for a wvalid
acknowledgement of paternity and the legal effects of it.

“gHeng Hlane erML” ereamemns euenrml. e CFE5585 SHeng Hlane 6 HLdlm @ emTL_mer
WP&SW FluBSETH®ETID, AFH6T FL_L elleneaTe senaTd 6T(HSSIS Fnmis.

6. Explain the grounds for dissolution of marriage among Christians under the
Indian Divorce Act.

@rdu  varepdeys sl gHer S SflevgiaurseilaCu  Hmwansmss
SMOLILISDSTET STTewThiSeneT cflalifl.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following.
eimaumauanel pmIeT BBEHEG §m GBICILGET 6T (95
(a) Talag-ul-biddat.

SOME-2 - 9555
(b) Maintenance pendente lite.
aupdSlenL LiFmoflLiLy.
(¢)  Option of puberty.
LmeuLd eriuHCwimT eflmLiLb.
(d) Restitution of conjugal rights.
srbuGw 2 ne| 2 Menw L8 L afliiLy.
(e) Sapinda relationship.
sABST 2. 06y (PEDD.
(f)  Specified dower.

GO LUl L wewsblgmenL .

(2) Fasid marriage.
umrélg SlmLoemrid.

PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.
LG eiTeu (HeuesTeLDMIET @) Feiria D& FLL euendW ket HMID SToreafléasiiul L
QULPEGHMETS Faldl HGHS HTTERTEISEHL 6T allenL_wafl&sea, .

8. A Hindu left two widows and after his death, both widows adopted a son each.
Decide the validity of adoption.

@@ elgmeusamear Nl (Helll(h @bg emeur @nhg edlLrr. eurg weaneilne
etrer @ elgeneui(Bbd S&EGS salssalCL g waamen &GaML CFlpriser.

&GeupLdlen Claed SeTennenil (Plg.6 HTEHTs.
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10.

‘A’, a Shia woman marries a Christian male. Is the marriage valid? Will it
make any difference if ‘A’ is a Sunni woman?

aflwur auglieous Gorps ‘A’ eratn @ Cueadr SdsgeuT ey LTSS DT,
SHmwentd Gaoa@ior? ‘A’ eratueall searell eu@liemus CarhbseurTs @) HHSTE,
Caumuir(h erCoeniLd ermuHiom?

‘A’ marries ‘B, a woman undergoing Iddat at the time of marriage. Is the
marriage valid?

‘<’ eremn GueT @&SST @(HeUHEGD FOWILD ‘O’ ereamiell Seuey SHmwenrd Claig)
QareirmiT. 1SS (Hoenrd ClFeayinm?
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